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2018 February New VMware 2V 0-602 Exam Dumps with PDF and VVCE Free Updated Today! Following are some new 2V0-602
Real Exam Questions:1.]2018 New 2V 0-602 Exam Dumps (PDF & V CE) 313Q&As Download:
https://www.braindump2go.com/2v0-602.html2.]2018 New 2V 0-602 Exam Questions & Answers Download:
https://drive.google.com/drive/fol ders’'OB75b5xY Lj SSNQnZDZHIK OU5xWm8?usp=sharing QUESTION 287Which key
combination will let avSphere Administrator revert to the previous version or build of ESXi?A. Shift+RB. Ctrl+RC.  Shift+V
D. Citrl+ZAnswer: AExplanation:https:.//kb.vmware.com/darticle/1033604QUESTION 288A vSphere Administrator notices that
upgrading VMware Tools on asingle VM fails. Upon closer inspection, the summary tab shows that the VMware Tools status is
unmanaged.What is true about this virtual machine?A. There are not any vSphere users that have permissions for the virtual
machine.B. The VMware Tools are so old that ESXi failsto upgrade the tools.C. The VMware Tools were installed with
non-default options chosen.D. The VMware toolsinstalled is an Operating System specific Package (OSP).Answer: DExplanation:
https://www.slideshare.net/RamPrasadOhnu/vmware-tool sinstal | ationconfigurationQUESTION 289Which password meets the
default password requirementsin ESXi 6.x?A.  Xqavntthi3B. xQA!3hC. xTaMEhb!D. Xga hin3Answer: CQUESTION 290
Which two statements are true when configuring a virtual flash resources (vFlash)? (Choose two.)A.  Virtual Machines cannot
reside on the virtual flash resource.B. Only Shared Storage can be configured as a virtual flash resource.C. vSphere DRS does
not support vFlash resources.D.  vFlash resources are managed at the ESXi host level . Answer: ADQUESTION 291When adding a
new VLAN to an existing virtual distributed switch, which three steps are necessary? (Choose three.)A.  Right click the vDS and
select Distributed Port Group, then select New Distributed Port Group.B.  Right click on the data center, select Distributed Switch,
select New Distributed Switch.C.  Specify the VLAN ID and VLAN type.D. Provide a name for the Distributed Port Group.E.
Specify the number of physical uplinks form the vDS to the VLAN.Answer: ACDQUESTION 292What is the maximum supporter
number of vCPU per VM in VMware vSphere 6.57A. 256B. 128C. 32D. 64Answer: BExplanation:
https://www.vmware.com/pdf/vsphere6/r65/vsphere-65-configurati on-maximums.pdf QUESTION 293Which is avalid requirement
for deploying the vCenter Server Appliance 6.x to aDRS cluster?A.  One ESXi host in the cluster must not be in maintenance
mode or lockdown mode.B. At least one host in the cluster must not be in maintenance mode or lockdown mode.C.  One ESXi
host in the cluster must not be in lockdown mode.D.  All ESXi hosts in the cluster must not be in maintenance mode. Answer: B
Explanation:
https://docs.vmware.com/en/\V Mware-vSphere/6.0/com.vmware.vsphere.install.doc/GUI D-E278E0F2-8983-4246-9903-50C4022F1
273.htmIQUESTION 294An ESXi host has limited network connectivity.What three troubleshooting steps can a vSphere
Administrator take? (Choose three.)A.  Verify that all NICs are configured to support the promiscuous mode.B.  Verify that
portfast (or equivalent) is enabled on all the physical switch ports that the ESXi host is connected to.C.  Verify that the speed and
duplex of the network links are consistent.D. Use ESXCLI to verify that the virtual switch NIC teaming is properly set.E.  Verify
that all NICs connected to the same ToR switch are part of the same LAG.Answer: BCDEXxplanation:
https://kb.vmware.com/d/article/1004109QUESTION 295What are two uses of the vRealize Log Insight Agents for Windows and
Linux? (Choosetwo.)A. Monitor the state of syslog/eventmgr servicesB. Collect events from flat test filesC.  Control the state
of the syslog/eventmgr servicesD. Monitor directories with the filesystemAnswer: ABExplanation:
https://www.altaro.com/vmware/how-to-set-up-vrealize-1 0g-insight-agents-on-windows-and-linux/ QUESTION 296After enabling
iSCSI port binding on ESXi hosts, a vSphere Administrator can no longer reach an iSCSI Array Target from the configured software
iSCSI initiators. Which can be the root cause for the failure?A.  All VMkernel ports used for iSCSI connectivity reside in the same
broadcast domain and IP subnet.B. LACP other link aggregation was used on the ESXi hosts uplinks to connect to the physical
switches.C. All VMkernel ports used for iSCSI connectivity reside in the same vSwitch.D. Array Target iSCSI portsreside in the
same broadcast domain and |P subnet as the VMkernel ports.Answer: BQUESTION 2970ne of your virtual machines (VM) has
performance issues and sometimes in unresponsive.Which VM file must be checked in order to find the root cause?A. vpxd.logB.

dslogC. vminstlogD. vmwarelogAnswer: CII'RECOMMEND!!!1.]2018 New 2V 0-602 Exam Dumps (PDF & VCE)
313Q& As Download: https://www.braindump2go.com/2v0-602.html2.|2018 New 2V 0-602 Study Guide Video: Y ouTube Video:
Y ouTube.com/watch?v=ygQaSdzIVkO
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